T
e
o o
N w

=

1/N,, 1/2T[|oT do/dndp
S =
L o

[EEY

Ratio to ATLAS

0.5

900 GeV pp Soft QCD

:I_:| I I T T | I I I I T T | = _‘(L)
— c
s Charged Particle P Spectrum (N_>1,p >0.1GeV) EE%
= =3
= =0
L— & d.. — Nl
= So
= —
E “Ho
— ] E
= ==
= S
= =
= =
= =8
= =3 <
— —m
E- o
= =5 O
— M
—
E 5=
— m  ATLAS A g
= --{3-- Herwig 7.2.0 default KE
L- —a— Pythia 8.108.p1 default o
— A\ .: S
= ¢ Sherpa 2.1.1 default w8
= =R
= 40
- i el
= 50
= ] ] EE
- & =
— YR 24 —
— Py ¢ -
= "’,..0 *e .. “‘M -
_ ’ ........ ’ ’ ’ ‘ ""’ —




	Contents
	Page 1


